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MAXMARKS:200 MODEL PAPER-27 TIME:135MINI
(3) Only {C) tries -
GENERAL AWARENESS (2] ATl (A), (B) and (C) (C) As per WTO rules, the exporth
1. Whatis the name of the reputed {5) None of these import of radioactive materiaf
financial services company whose 6. As we all know, the major source in its raw, form is not allowed:
recent downgrading of the. Unit- of income of the banks islending : as it creales health hazards. tp
ed State’s long term credit rat- money {providing eredit) and earn- * (1) Only (A) :‘5
ings led to an ad'-r:rse Elobai fi- ing interest on it. [n normal cir- {2),Only (B) _ &
nancial crisis P .- * pumstances, the demand of the 3 D‘ﬁh‘j\ ' r;'
{1} CRISIL credit comes mainly from which {4]~All (A}, tB) and (C) B
(2) Franklin Global of the following sectors ? / \m Noie of these
{3) Standard & Poor's (A) Personal Loans 10: Man}\baﬁki have launched /-
. (4] Economic Watch {B) Pricrity Sector Lending and }ﬁ:atcd their diaries which
{5) None of these Bailout Packages ' f aremﬂ.? UM by them. Banks-
{C] Project Finance ch subsi liaries normally fﬂfs
2. The RBI has introduced which of 1) Only (A) C : ha th following business; I.
the following systems in place of (1-Cmie b, o ,f 3
the existing “Benchmark Prime (2) Only ':B:'_ /- Al T w *‘H loan Busmess i
Lending Rate System” for charg- (3) Only (C) ' L A ¥
. insi : - . S/ sell Insurance Policies -
ing interest on loans/advances ? (@) All{A), (B) and (C} iy £ //fg]l o control Online Operations,
(1) Prime Asset Lending System " {5) None of these ¢ NS __ 3 ;nm Banking busimss
{2} Base Lending Rate System 7, The set of directive 1:-t'lnf:ilh§'I \/u Onily ;
(3] Net Lending Rate System © sued by themsm 9:,;‘ AN @ DnlleI §
{4) Gross Lending Rate System m'ji“t‘:-"'m‘:w ﬂ‘;: Drm\ ‘. (3) only(C) '
(5) None of these by e S (@) AlL{A), (B) and (C)

3. One of the sources of income of
banks is to charge fee for certain
services. What are some of the
services provided by the banks
for which they charge fee ?

{A) Issuing Dema.nd Drafts!Pay
Orders

- [B) lssue of ATM!CrcdlﬂfDeblt

Cards i o

-{C) Electronic Transfer of Money
(1} Only (A)
(2}-Only (B}
~(3) Only ()

(4] All{A),(B) and (C)

{5} None of these

Which of the following is the full

form of the term SLR as used in

the banking sector ?

(1) Social Lending Ratio ™~

(2) Statutory Liquidity Ratio ™

(3) Scheduled LiquidityRate ™,

{4) Separate l..endmg)ﬁatgf ™

. (5] None of these s

5. As per the news,pub!is\had in a
major newspaper,, profits. of a"
major private hank. in the 4111

. quarter of > year Incﬂ:ased b:.r
35% as the bankdecidcd to keep'
a tight control on the cost. What'
are some of the ways by which
the banks can conitrol thercost ?
(4) By Imr[n,g down ‘the inter-
_est rates on deposil.s
(B} By hr[nging down the operat-
ing expenses
(T} By reducing the interest rates
‘ on the eredit
(1) Only (A)
{2} Only (B)

4

P

P

., {5) None of these

ey, availability of money. ooeLQ{ /
money and rate of interest, etc.

in order to b“ning
. growth nl’t.he cl:hn

mt:,r smd_

ﬁ Pmﬁt m;d_bas Acco t
[ﬁﬂmcas‘ﬁoucy ‘of the Bank

(5
NM pet the ﬁ‘aws A some m,mr
" newspapefs. Hﬁwasa.ki
" tablishied an ladian unil to m

o uf&r:turc\its- products Ior:all:,r

Wl-xai\ Lg?l.hc product of Lhe gﬂ

"1} Liwtury cars 3,'*
G {‘2}', Mator eycles
-/ {31 Tractors :
41) Power tillers and agriculiug
- equipments

business ‘houses are w;l]inmg
import Uranium from Australia
But due to certain regulatory s
sues. this is not possible rn’i'*

tory pmblems particularly those

which govern the import/expord,

of Uranium like materials ? 4

i) Indiahas a special agreemelg
with USA which does not ils
-low India to impart such mn
dioactive materials [rom anj.{rﬁ
where else ,%

(B} India is not a signatery ofMang 1
Proliferation Treaty, Henne}ll}

cannot import Uranium Img
Australia or other such coufify

(5} None of these :

11. When the common people ol‘a
nation start getting very high sal-
ary or wages, the consumption
of the goods like eatables and
white goods, also start increas-
ing. This situation brings which
of the following types of inflation
in the economy ?

(&) Cost inflation

(B) Demand pull inflation

{C) Low inflation

{1} Only (A} and (C)

{2) Only (B)

{3) Only [C)

{4) All{a), [B}a'nd{l::]

(5) Only (A)

12. When the Reserve Ba.nk says that
the Rupee is over-valued, it
means ' :
(1) REl has shortage of hard cur-

rency and it has to order lor
printing of new notes to the
* press concerned

(2) Rupee is appreciating against
other currencies whereas oth-
er currencles are weakening
against TJE Dioflar. -

(3) Money is locked in banks and
people do not have enoughto
make their day to day pur-
~chases. it is a strategy which
brings the inflation down.

{4) More and more people are
selling their stocks. As a re-
sult stock market may crash,
as there is no hard cash for
such voluminous transac-
tions.

 [3) Mone of these
13. Which of the following public sec-



tor banks has the largest num-
ber of branches in {ofslgn coun-
fries ¥
{11 Bank of India
.~ |2 Bank of Barodn
- 13 Punjab Mational Bank
¥4 Corporation Bank
5] bone of these
Ii..uputmmnjnmmﬂl:r
newspapers, Tata Group of lo-
' dustries has laawnched b joint ven-
! :mmmwunuﬂllﬂ';
ning to gencrate power
'ﬁ:‘n“frpﬂEiHu-lih
_sarth". Encrgy generated
i]mlihmhmﬂhndul.udwﬂ
- by knem as .
(1) Hydro-thermal energy
*{2) Natural power Encrgy

I8] Moawe of these ]""'
15, Which of the liu-ln'nqu,umri
ﬁlndumnln#uﬂrwrdnld
in India 7
an.geumu:man'wd
a5 & proof of citzenship

(2 To get a free medical ald in
any hospltal in India. private
mmmm‘t

{3) To gt encugh food to survive
even withoul any puﬂnml
HURport

4] To get slementary sducation

(= Al of Uhess

16, Aswe ser every day, many Inde

mbuhm“ﬁ;:hm
" tlea to branches,/al

. mmmmmﬂﬂ What

benefit will the Indian sconomy

have f banks open branches in

-Im-el.p'm:runh}"l" ]

wllltrriuwhnantlﬂm

oy I[:un'ut Benefits to lndin and

plss 1o the countriés whens
branches will be opered.

1t will i, smceth Inflow

ﬂm’mhﬂputumuﬂal (U8

[C3 T will give better opportunt’
.mmlmmndtw
nations and get hetter facili

18. Which ol the following = BOT Lhe
_ name ol a Chemical Fertilizer 7
1 Urea
12 Murate of Polash
13 i ammonium Phosphale
1) Sedivwm Sulphale
61 Al ane fertilizers
18, The Securilies & Exchange Board
" of India [SEBY) has asksd ol Fils
-todivulge the stryctuse of Lheir
ciflshare entities, What purpose
willil sesve 7
ﬁfﬂ"rpntnu'yﬂ'meréhwﬂw
of fynds from same queatica.-
q'hle-lmmum .
. §B) Ta know how much moeney
Fllg are planning to nvest in
India . |
5] To forecast the possdbdling of
any financlal crisis in pear
A1) Oty 1A
2] Omly (B
[3) Omby ()
(41 Adl[A), |5] and [C]
Mone of these
20, Government of ndia i
spocial efforts to bring
‘Grean Revolutlon in a
reglon af the
that reglon 7
llhﬂ:nr.ru!lmli

."r( 7 22.Which o the following I8 a 5o

I:j' Eradicatien Fro-
m of the Government of

\‘ ,,,-—"’ ~ Tncha, specially designed for ru:

ucatian, mﬁli?ij -
Elmun \\\ Qﬂlldzh Group
(1) Only (Al  [Z) Cnby (B 43} Antodaya Anna Yosana
(3 Onby (1 (41 Oaly “m |3} Secial Security for Agrculiural
(1 AN AL (B amxd (C] ) \\-\\ ) and unorganteed Labour
17. As we all know, e [4) Enforcement of Minimum
hiked the CRR. Wi Wages
tepace will it fumne-<_ 5 Mone of these
tioning of I". 28, ‘Project Tiger' is & scheme
(A Banks wil tve lfm m taunched by the —

1o the e o thege-funds /?

Lﬂh_n“-lll £+ thelr
- capital base
or by taking the
. Government af tndia,
0] Barikes will Tesve bo give mare
wmmmqmnm

10 Dnl:r{-'dl

) Dby (B)

13 Cnly 153

T AA (D) and (£ -
13 Mane of thise

{1} Government of Gujarat and
Madhya Pradesh
|24 Gowernment of Indla
13) United Nartions Wikd Lif Fund
{4 Soclety for Prevention of Cru-
ey om Animals (SPCA]
(5} Mone of thesk
24, Which of the following ks MOT the
abbrevinted name of & scheme
launched for watershed deeelop-
rents inlndia 7
1] LEAP (2} DDF
13 VHNDs 4] TWDP

5] Mone of these i
World Day for Water s ebserved
on which of (he following days T
(1) T2nd May

2] 2 April

3] 22 March

[4] Z0th March

mm&ﬂl
9. Which of the following awards (s
given by the Sovernment of In-
dia 7
(1) Balinga Prize
2] Ocir Aowards
[3) Man Booker Prize
(4] Pulitzer Prize
[5) Jawaharial Mehru Award for
Intermational Understanding
30. The third permanent research
cenire being built in Antarclica
1% neRimed -
[1]) Parikrsoma
) Bchinl
[ Bharsti
(4] Himéalaya
[5) Meme of these & =
31. Lin Dan whose name was ia (he
nutwn pecenily is & lamoes
(1] Lawn Tennds prayer
[Z] Badmintcn player
[3) Gall player
(41 Foothaller
5] Mone of Lhese
32, Who amongst the following 1s the-
avtheor of the book “Many Lives
blany Masiers™ 7
(1] Fobén Coolk
[%) BriyanVie
(A L. K. Advani
4] Admiral Vishau Bhagwal
(S Mpne of these .
33, Canadian author AHstadr Macle-
o o April 20, 2014 &ed due o
& henrt stroks, Some of his Ta-
mous books inchade g
[1] The Boal '
2] MNoOreat Mischdel
3 leland
(4] Al of the above



34, In 18 fiesd Bi-monthly Mmﬁ.

151 Gy (1] and (3] TG

umumﬁwmumum

2, 2014 appainted which senlor
iFS officer &8 the new Difeclor
General of the Barder Securily
Force'?

(1] 2. Singh

2] [ K Pathak

(3 AE Hanth

il Pratap Bharm Chauban
i5 of thean

%, Pulitzer Prize winning journalist

Anja Hisdringhaus was, en April
4, 2014, shot dead by & police-
man tn Alghanistan. She was a
photojournalist from

wy s men
@] Germamy ‘...n ;E:!J
W Spain i U TH
iG] Mosral these © 0 0
88, Which Brilish ﬁwrh.an |||-|.:,|1.;L
cisL. on Aprid B, 2009, mn-n?ﬂ .
BeEruiLaeT rahmrl.n,!u.' Prl.&,'-
for discovénics k&ﬂlﬂi‘.iﬂhll
sand-fold Imcrease in ﬁ.gﬂ.al
slorage o magnelc disks?

1] Adlen Muls #E
2} Stuart Perkin ?_m:
12 Tim HKohl 1)
[4] Peter May

o
%] Hone ol these E
. Which Indian Astserican I-I-‘-!u,-
April 4, 2014, nominated by B
idend Barack Dliama a5 1hi e
US Allermals Execuiive DI
all the Inlernational Fome f
P (IMF]F !
11} Sunal Sabbarwal . ! &
12} K.5. Shastrl
131 P.K. Dhumal "
a8} Suresh M. Tvl‘a.g,a.-'
15 Mone of Uhess |

L8, aaiﬁ'a'i.-'iir-'

Palicy statement 2014-18%: Ak
iR anApril 12014, 1P¢-B:-,
serte Bank of Indla kept the |
Iy repo rate unchanged sl -7

n 7.5% 2 &% i
13 B.S % i} B ‘
[B) Mooe of these

8. Which bank of India, ni'l..ﬁp‘i.l! i
2014, launched a financifg
scheme fur wamen fashlon
tique owmers. called H-ﬂIJlH-I
Flnancing® ~iff
' tl]MBankdmnin ’:_h_;.\

" (3} BankofBaroda'| .. aee:
i) Corporation Bank . . 0 -

4§} Canara Banig, -
i5) Mane of thess: .,

-ln-.1'lu= Busel Comeilies on Bank

ng Supervisian oo April 152004 7
1|:uE|! Final standards kg mea
surtng and controlling largk o
pasires of hanks 1o cEsiomers.|

* Thess standards will take e'rmcl
[

AN

[l lJnu-r;.-W]El Yy
[Z) 31 December 2018
(3 1 January 2019 -4
4] 1 <January Bad 3

51 Mohe of thess i

-

GENERAL ENGLISH

DHrections [41-52) : Resd the
l:nll:rw:;— passage and answer the
guestions given below . Certain
words/phisises In the passage have

heen primted in bold to help you lo-
nﬂ.l.-l.h-lm while answering some of the

Mare Fedin ficked-all the saitch
of his ransistor radlo and rose from
the table, leaving the breakfast tray
gimost untouched. He walked over to
e window, 1 ancther in the endless
MﬂmuﬂmﬂmltME

crusted lindscape which the
Pﬂmwmlﬂ-}!lw
o dismanthe.

; Humm:ud-iwrdqulﬂlrmd
iwdth great venom, falloedng ugp with
sher strong nowns and spiihets that

d his feeling towards the
irench President, his Governmens andl_
ifhe Action Service.

CRodlin was unlike his p‘m:lmu.lu-.-""'

Iy alemost every way. Tall and spare

m;miuhuhﬁdwm ":

dhatred within, be usuaily mask
remstions with an un-Latin

Wohytechnic to open doors iy

fThe seq of & cobbler, he had s

its England by fish

huam-hy_ld'm.mumm wiien
uultl::l.hr

L-lﬂ!ﬂ'!‘-
ﬁ#lﬂ

thie

M
during
FIH'II. him the
h‘ilaﬂ'uuﬂ:n and
mam.emmmmw
: the ¢haios had been
riing-fo civilian lfe or

Baw & nigw young generation of

Y, :ﬂu:alﬁd boys graduating from ihe

ollicer schoals, earning in theoretical
bessons carried but in classreoms the
same chevions he had sweated blood
for. A= he wanted them pass him in
tank and privilegs the bitberneas mm-d
10 Bel o

Thers was ondy one thing lell ta da,
and thal was join one gl the colonial
regimeits, the Lough i soldiers
wiha did the figtiting hile thg consoript
army paraded round drill aquares. He
mreanaged & u-m.i:r mu'ne cinial paras
L.

Witkin & year he had been &
comparry cosianandsr o indoe-China,

atlver men who spolse and

thoughi as he did. For & young man
froem o cobbler's bench, promation
cotld still be cbinmed (hrowgh cambatl,

“
‘him there had been no Ecolé,

‘boat in The, ™

amllutlm_h_.

and more combat. By the end of the
Indo-Ching campaign he was o major
ard aler an unhapmy and frustrating
year in France he was sent to Algeria,

The French withdrawal from indo-
China dn the year he spent: in France
had turmed his it bittemess inte a
consuming I-uuhhq af politicians and
Comamunists, wham A5 Ome
amel the same-thing. I'-Ibl. urilil Fragnca
was rubed by a soldier could she ever
be weaned awny from the grip of the
treakors and chapigtes wha permeated
her public e, Only in ihe Army were
noih breeds extinct.

Lik# masl combat alficers who had
seen thedr men die and cccassonally
tairied the hideously mutilated bodies

I hode un enoupgh to be taken

. ahrl: Bedin soldiers as Uhe
I.'n.!:E salt-of the earth, the men \-.I':hn

4= gacHiced th in biood so that
: the hu.u',g;ﬂﬂﬂfnﬂd biwe at hoane in

. Ta from the chvillans of
g um al'l:z elght years of coambal
- it frests ol Indo-China that maost

£ of them Cared not a for the

4 Cto read u.um:u‘.tmd

b the left-wing inaellectuals

i i irifles Bke the foturing of

. soners to obitaln vital information,

™ e, olf imsicie Bar Rodin 3 reaction

““which combined with the native

hifterness stermming from his own lack

‘} of oppartunity, had turned into
Zealonry.

H= remained comvinced that given
enough bimcking by the oivil autharities
on the spol and the Government and
people hack home. the Army could
have beaten the Viet-Minh, The otaslon
af Inde-China had been a massve
betrayal of the thousands of Tne paurie
men whio had died there seemingly tiar
nothing. For Bodin there soulid T,
could be, no more betrayals. Algeria
would prove it. He lefl the aboes ol
Marseilles in the springof 1853 as ner
A hm man @8 e would ever bre
¢u||'!r|.'1m:ad _l.hll the disianl hills of
Algeria woubd e ihe consmmalion
o whial b regarded as his Lile's vink.
Lhe apathensls of the French ﬂ.rrm i
the eys of the warld.

s AL Whal was ihe period whien Riodds
escaped Lo England ¥

lllFlﬁlt half of the late arriving

spring

12 The time when Germany oocu- |

.+ phed Frands
o M The period when Cross of
Lorraine was disbanded
(4] When Rodin was a ¢hild ooh-
Blers work

(5] Mare of these .
42, Which of the liulluwln,g b=l -

aerines the phrase..cared ot a

Ag.....a8 used in the passage #

(A Ignaring the canribanbon mads by

& PETSON oF Broaugr

Bl Under estimating the hidden po-
el

23 Owverlooking the service rendered
by an emplayes

1] Oy A

[ Only A and B

[31 Oy

(4] Oy B



" g5} Qndy B and C

243, Which facters madde Rodin slay in
the frmy ¥

140 He i mot. bave any big business
irr civil life

(B The parent coaniry had Commu-

st daminstion

(T} He wanted to experence the bil-
temess of ofllcer rank

* {1 Oy A
2} Oily A aned B
(3} Only &
[} Only B
150 Dby B oand C L
44, Aocording to the passage, who -
5|a|.¢uth¢hilnm-i¢umm“-
nisls 7
(1] The naties af Viet Mikn
(2] The fredom loving ciligens of

(3 The Mar: Rodin
(4} The pecple of France
iS5 Mome of these
45. Which of the lollowing best de-
seribes the meaning of the phease
officer from the rasks as wssd In
Lhie: passage ¥ .
(1} The pu'mrlwh&haaal EREEN-
ikl acpdemic qualdicalions and
. experienct reguired to becoms
- 120 The person who grows In the
arganlzadion from Kwest hies-
arehicl posilicn
(1) An officer who is given f TRRK
of am afficer to perfosm a spe-
cifie Lask

(4] The person who SLruagries hard

Tt {alls to obtakn & rank
5] Maone of (hese
A8, What [avowerable situations did
Bodin find In Inda-Chign cam-
palgn?
111 hué contldd attaln bis lost senbor -
ny . i
(2} He could manage his desdred
posting tn Algeria
- {3} The peoph arowrd him weses of
Lhe same nature as he Was

1} He atlained the pank of Major f

In the Army
150 Kape of these

'..

meaning as the word printed in bald
a= used in the passage.
48, CHEVRONS

(1} colours (2] badges

1% =kellls HH crowmna

|5 ranks
50, CONSCRIPT

[} comemssicoed

[ mecrel 13] detailed

[ compnalaive (5] reglstersd

Directions [(31-32) : Chooss he
word which s MOST OFPOSITE in
meaning Lo the word printed in bold
a5 used In the passage.
51. FRIGIDITY

T warmth ) hest

(3 embrack (4] negation

5] calm
5. DENUNCIATHONS

{11 enrotmient (2] greeting

{4 refections (4] horsnaring

47. Wha wumumnﬂn:hm?{m e’

peosst war-Francs sifuation 2 ™

Ay
(2] He momitared t‘ru:g.fmu-:d.-. !
o imdrill squares
(4] He jolned o ca n:g;ninl.
[4] He préfermed h:nl:'iq\

E!-IHunlzdlh&E

I'I.!Tt'rt

12 The Cave Lackéd politi-
. ulwwmw/ﬂ

13 The built-in hate af the
commandar did nol percalate
atthe soldler level

{4) The convicticn hek] by U asmy
chiel proved 1o be false

{H) Kane of Lhese :

-MHroctions [#8-50) : Choose the
word which has most nearhy Uhe SAME

.-

"'\-.

s

T,

C ) plays Lprt
g | an imperiant role
l!]H:jnﬁ'ﬂdu.n-uﬂlumE}:thuf‘H ™ .. T play & important parl

(5 Mo correctian required
This book will be of particulas
intereated ih those faseinated by
the recent philsophy.

partscul mum:l
Eé]lﬁpummmll,}lm "':.;
3 of Bulerested In wlhm o

[4) particularly of icnesed © "'rz,f _

{5) M correctian refuined.
57, Thest days developed coiy
have staried looking down

underdeveliped courniries as
aclvantageous [or both the

11} booking alter - -
12 boolkcing deoram ugon e
13 1o look down ol |
14} Jooking For i q?:‘

150 o cowreciion requined i

Directions (58-62) 1 In eith
quezstion below & senlence with "1‘,*.?
words printed in bold Wpe 5 given:

Thiese s iazrebered as (L (2. (3 dhd:
(4. One of (hese four boldly pringhl
words may be esther wrongly speiton
inapproprlate in (ke conlesl ol by
BeTUEROE, Fimd cul the weard whichis
wrangly apelt o inappropriate, B any
The naunber ol Uhal word B y0ar ardes,

If all the beldly printed words wre
mmﬂﬂylpdi;ndmwmm&h
the context of Lhe sentence, nsrk 15]
i Al Coprecl” a6 v pnswer.
E&Tb:q_ﬂnﬂn.-‘\il.lrﬂiﬂﬂiﬂ-
us phesomenal¥)thal ane
lp-.m{ﬂ.rm;ﬂk.m:d Al pir

P

Gﬂ-l-ml:rlrr.l'lll to popular be-

I ! was ol the cag-,
_ﬁ[ﬂf of pyramids. All
= 5

. astronomical [1]/ealenla-
y" 121 were admiringly (3.Sao-
. {4} Al Cprreci |5]

I irvward from the top of e

[ 1]/ the aeairies (2 fhod
. :w-u-m-nlhunp-n'_im
S [4)f befiore them. Al Carnect 09
Directiomns [63-57) : Rearmnge e
Tellowing seven sentences (A, (Bl ICk
1D, {EL. [F} andd (4] fn Lhe proper 8-
quence o form & meaninglul para-
thmmtqmmﬂhm
bedom them.
Hﬂnﬂumlﬂl'm'ldlﬂnmln
Mulwlu.l':nuﬂ.
IE] We are happy 12 belong
society that breals us fdrky, that
5 our dpeu'l.dﬂiutu-lu'w'llll
{€] Bath in & way will be right.
¥ Thee problem, however. k5 That
wmm_duz' Can fmean 8 va-
=ty ol contradiciery things.

+ [Ej Political parties will take advans
1age al this and willl champsan cne dedi-
nitian gr {He gther depending upon their
omenisnes and claim e be the party
mjl.uﬂm .

* IR Justios 1s the bond of seciety,
() 10 e, for Instanoce, mean gy
u;ul.whl.l we degarve, be that a re-
wiard fiowr schdenemnaml oF & pnashment
fiee alf=nces.
B3, Whlehnllhtl‘hlhndnzwmlnmc
¢ POURTH mentence: 7

G (2} F
CIHE (A E]
1®c
u“’hlﬂhdlmﬁlﬂmﬂﬂwﬂlbﬂﬂw
THIAD semt=nce T
{ia 2B
13 c &) D
151 E
o the wiill e Uhve
"
B 1] =
CEE Mo
o m# .
B8, Which af the foflowing will be the
FIRST sentence ?
(11 E 2F
3G 4 A
e



87, Which al the following will be the

LAST sentence 7
2ma 1]

[ E f4j D
P e

THrectlons [88-72) : Read each
senience (o find out whethes thers s
in]'mul'ml:. errar, I amy. will

gne part of the seotence. The

ﬁm.:-tuﬂ-:mm iy

Mummﬂumu'ﬂ Mg-

norg errors of punclisation, anyl,

H. Whensver we have o puncbure (11
she Just sits In the car (2)/ and

. reads a book (3 while | changsd

- the wheel [} Mo error (51

B0, Ganesh, whe has been 17 driv-

IT

i mq:u:l:ldnur{m'mmnm'umd—.

13}/ and wanted to stop (47 No
« mrror {5

90, Scaroety had we {1}/ alighted from

thé tradn £2)/ than it began T3l o .

rain cats and dogs. (417 Ne error

15

71. | was surprised 1o find thaidl)/
U coempuker was oul of order (214
and enguised U any one af tem
- {3 have used 1t recently (41 Ko

error 3]

T2, Prol. Fullkamd, whﬂ-laﬂr'll-l‘ltl'lh"
stall of cur callege gios 1990 62/
is not only an ol tescher

131/ but also a great humandlar-

iag, (81 Mo errar (3]

THrectiomns (7280 : I the folios
Ing passage there are blanks, each of
which has been numbered. Thess num:

bers an: Tediormr Uik and
against ach, e words gre s
one ol which fils the blank m

akely. muwtu:npmwuwmﬂm
each cage.

Man has abways congidered him-

sell 1o b the ruber of his planeét. This |

73 and v attendent superiority fel-
ing las made him look down 74 other
crealunes wiho oo-exist with human on
1his earth. Thus called civilized buman
race has 78 and Oliterated small and
large antmal and birds in &6
nltunpl.mprw::ruﬂ [t is comman
kntudedpe that TT rmamber of animals
have been T8 for centuries wnder the
T8 of conducting scientlflc expert-
MmEnls of liu::p-nm Till recendly, if-.
the 80 of scientillc ExpeTimenis mT-
keys and Erogs have Teen subjected,

i,

",

o dissection ul'ld '.l‘h'ill:ﬂumx__h u:m .
aboratory.

78, (1] pleasure I:irl'g,l'l
. 13} achisvement Hi‘fru«
{5 arrogance

L

Td. 1) i "Iﬂ.l.lp:n‘l
1) with | m‘sur i
Sinte . Y ™
7o (1] thtI&gﬂ dwuw:
mpmmﬁu-dx abused _,»"
T (1) supremacy (29
13 clevernibss () mistinct
- |56] poasession -
77. (1 all 12) plenty
3 countless. [4) diverse
I8 numerous
TH. (1) fortured [2) exposed
(3] trieated ) vaniahed
() exctinct

e

78, (1) projection (2 eritlcism
(3] pretest ) game
(6} atudy
80. (1} matter 12) set
{3 scheme 4] virtue
154 narre
QUANTITATIVE APTITUDE

{  Directions {51-80]: 1 Whal Wil come
| int place of the aissiian smark (7] b Ll -
|I:rp.~|ng equ:nnm?

uanI'TEEI"'

4
8T
i1 123 (2) 122
) 142 4] 143

15} Mome of [hess

'm..E

153 Mome of these
92,11 3 7. 178 564
(1] B 1% a2
31 74 [4] 84
15 Mone ol thess
BA.E 38 144 S04 7
11y 1512 (2 1296
%) LT2E 4] vl
(5] Mane of these
a8 & 20 P 412
111 82 B EN L]
i3 98 I} 87
15} Mone of these

98,23 35 88 343 F

{.J']I'I‘-L'_!-ﬂll S5 [ IS5LS
430 15515 - (4) 15435

2 4.3 2 . (Bl gae ol these
82 3% x.ﬁnix-@:? L 96, T:i‘?qw B are standing
i ""x s ‘W mtarts @ue-
T e g towards ! Alfter bialf an hosir,
A r— il Iy Ciar ‘B sliris to move in Uhe sams
45 “"u ~—dirsgtion. an haur of start
1 2 AN “uf Car B they reach al the same
g Wl ,/ f’;,. - wunn What e the spesd of
15} Mone of Thess ’f L ‘,-’“ .-""ﬁ mw 2} 40 %pn‘
B3, 136% ol 450 + T of 320 = }'EB“ ', A0 kmph
1125 2 28 ot camh:delmﬂmd
@Wizs 141115 “ \ \\mmmu‘;‘hm
159 Mome: of thess . - - Uhird of 12 mangpes g pot-
;,r __\_}‘ ten. If 4 mangoes are taken out
36 .90 “‘--,.__ - \\. randoenly, what Is the probabélity
¥ 195 el e ’ thiat ti mango bs rotten 7
mrs s e 1 w2
A N 1 g5 §
TE Mone ol hges S i 16 a5
85, 323.0014 1847 5 -:r-;-' 3 5a 55
mHu 014 2} 15:}“&‘ (9 Nane of these
T 98, The ratio of the present ages of
[5] mumu a_-ﬁ- Sumilta and Reena is 5§ 7 reapec-
";r..h 2 --"-"EI.. = ¥ tively. Four years hence the ratio
'“ﬂﬁq}mx 2] will be 3 : 4, What is thepresent
age of Feena in years 7
206,112 6L (hzs - )24
A [ﬁlhunrd‘ihnﬂ” P
2. 1
m—ru G = 1) Canmot be determined
wm a é\‘*‘l_ & {51 None of these '
4 - (B, The area of & rectangular garden
JJM ks “ Is 040 mquare metre and the rtio

& i
411— 8 42

al theas

-~
T

e 7
. ({
. “.,-:[;5 £ 7.1=TH131 =¥

"1.__ (1) B0 B369 (2} B1.6368
r . [4] 62,8259 (4) B0.BE30
¥ im) sone of these
88, 23020 + 23 - T =7
(1) B [2) fe
3 9o 9] BEE
15} M al these

24 _ 676
e m P
0 T 311144 -

5 1
Wag ey
i1 T
2 357 w3

15) Mane af these
Directions [S1-95) ¢ What =ikl come
in place of question mark (%) in each af

thie following nusmles serles
@l 44n * 21 6 R
i1} 82 [2) &4
o 4 v

berween adjacent ssdea is 4 @ 7
reapeciively. What will Te Lhe ot
ol making a halfl metre wide
boundary arceind the garden il Lhe
eost of making boundary per
square metre be Rs. 148 7
(8] Rs. B140 (%] Rs. 8088
13] Ra. 11204 [4] Ba, 11508
[5} Mome of these

100 There s 8% waler In milk being
sidd by a milkman. What amoming
of pasre millc be mied fn 100 Jire
mixture being scld by the milk-
man be redoee (he water combent

1o FH P

A1) Bl hitres 12 150 KHirea
13 250 Hires 141 180 ltres
18] Mone of thess

DHrections (101 109 : Study by
Followdng graph 1o answer the glven
questions.

npu'lmthnm fim orore Ral)



(1) 145

i3 IS5

15] 1

lﬁ.\;g:: 15 dilference in exports In
arwd 2005 ¥ .

2] Rs. 1500 cr.

i 150 ce
ﬁ {4] Ra. 100 or.

M Rs. 15 cr
50 Hone of these,
]nﬂ.'ﬂ’huummﬂﬂpﬂtlhcm
rupees] in e ghven years ¥
IR 2 3700
() 2900 {4} TS0
%) Mo of Uhess
104, What s ihe AR IneTeaes i:
wmlmmulmm

in the gheen years?
(1} TS0 12 478
2y BS0 [4p 375

151 Kone of these -
105, Which vear has l.hchlﬂl'lml.].u.r
e increase fdecrease in expons
a= campared o ihe previcus e
1) 2004 [2) 2005
{3 2008 . i
141 Cannot be determinsd
|51 Mone of tiese ks
mMmhn{anumumﬂ
1o B of another nasmber. Wl
I5 the difference belwesn L
riembensT
18
2} 32
3 24
4] Cannot be determined . i

16} Mone of thess "-L

m.i.brujumﬂﬂadhmmuhuuq .
A amcmmw:hr“ﬂfr
ratio ol 2 ¢ 3 ¢ 4 resgec
lhtuhmmuﬂ'mdlm;ﬁm“
poepa. 16 poe pea and Iﬂ-
pApA. respectively, what Wl he |

m:mpumrmmﬁuuwu
ﬂurnnrrﬂr? e
(10:8:8 7 L - H__
[ RN L el F
(% R 15{':& - ..

14 cumubedq.,cmd
mumﬁ'm Lt hnl
&tmnnmﬂul'ﬂiﬂﬂm
mpummmaam I-l
crigses a signal pofe.dn
. onds. What is un.-:ap-uhinmw
train In kmph 7
Yt 1) Canp be determined
12 72 [
" 4154 (50 Mo of thess
LOBL Bl 2+ By = 10D and Ex + Bw g+
12 then y=x=7F
7 e

(K1)

i5) Mane of Uese
1m{:ertunuumherﬂplmualm

article are to be packed In baxey.

mmmn;:::mmmmn:ﬂ

pleces, | r paching them in

a3 beoxes B8 pleces are el cul,

whul“llltmmhf:l'phrzﬂ.

to be packed ¥

(1} 4566 (2} 4855

3 4468 4y anar

- 15y Mone of these

LA

a2 |51 &4
I B )
130, 2375.65 + 18.00 = 4.525 = 8.05
m P
1) 105 (2} 96
13 BB (4] 90
= 112
REASONING
m [121=123) : Four of

the fiallowing Ove are alike In a certain

. DHrestioas{111-115): Shudy the follewing table to answer thess quesiians.
k Hmﬁmrulﬂﬁﬂuhnﬂmwdﬂm—ﬂnhm

Geales .
o Dﬂmﬂm:f Sysiems wawmrﬂt Publc
o H‘:-. Pelations
a3 | 125 785G 1 300 |-. 338 [-175
20 T 576 FIT [} E
75 250 T I] -an__[-. BE 1100
40 126 Ty G 30 - &0
v 25 85 70, | .88 +f— 30 7| 35
[ F 20 38 |F 13 . B 5
alis the rato between the o= 7 7 50 form a groag. Which g the
g {;ﬁmmrn{mm inSgale | iy mun--ubdmumw
1k and Scale [V res ./ /1am ) Sad i2) Sorronful
[ 18:9 I ER LT w7 (¥ Fearful (4] Weoehal
(3 17:8 ka8 l?x X A 15 Melancholic
. {5 Mone of these e w1 (1) Cause (%) Reason
’ 1 mumber of
%‘*mmmmw& B loge (4 bare
1. intal mumber of mph:mu in b 103, (1) PAMEC o
o Scaled? ' S ~_ / ogmeri
Boes {‘mn_ ™ : b TG
o3 gL L. MOaCT

& ﬁl H% o
r:
. l

[2) 25
T

5 [5) Noe of these

Mrections |1 I.B-lmlw'ha'tlp'

valut will come in place of

the questicn mark (7) in ollowing cqua-
lioms 7 .~

AL8, 355 of 121 + 85% of 230,26 = 7

e 1) 228 (2} 230

Tor % 240 4y 245

S 228

U732 %81+ 385+ 488 =7

i Meto {21 660

. 1 Bas (4] 690 )

6 BEs .

118, 2508 + 15.02 + 7 = 11 = 200
i i3 Z 8
3 (il 4
ImE .

119, 42.07 = 7.998 + [7F = 207
me 2} 12

124, ‘Which of the [llowing has the
same relationship as Ring : Fin-
per ?

1) Callar : Shirt
2] Haldl ; Hand
13 Shoe = Foat
14) Ratn ¢ Umbrells
{5) Welst : Bracelet
138, ‘Compater i related to ' Mashine'

ltr;mtm-nru ‘Cup’ is pelal-
b ___

(1) Water (21 Mug

13 Utensil [ Btchen

5 .
126, “Book’ i related Lae "o shie
marme WAy A8 Wasle' is related e

“Drstbin,

(1] Schoal (2} BBalile
@ Qiflce 4 Studenl
5/ Rack

Déreectbons (127-131) : Study the
fallowing ndorrrsion Lo anseer Lhe gh-
£ questions T

Seven friends 2 Q. L 5. T W
and X stay in thres citles-Hellaka,

- Chennal and Mumbal, Three of thes

are females and resl arg males noi
n:ﬂ:lﬂ.l'lljrhlhcmmﬁtﬂ Auleasl

“twa'and nol more than theee of them

stay in & particular city. By professions
lhe_n_m:hni:ln-r Dancer, Chemidsi, En-

iriees, Teackier, Artist and Student |nod
nesgkinily in the shme ander).

=% There = no fEmake v Kolkats,
There |5 no male.ln Chennad. The an-
Ist siays in Kolkata. 515 a student wnd
stays |n Holkain T s a male enginver.
The Dances and Dactor siay In Chen

nad, X i= not & dancer, Fscays in Kolk-
nta. W is a Chemist and sty i Mum

bal B stays in Lthe same clby as 5 ol
I ol A ArTsd. -



127, Whal ks the profession of X 7
[1} Either Doclar ar Asiag
[2} Teachssr l@}lh-::nr
(4] Ariist i
(5] Bithes Artlat oo Tescher
128, Wherno docs § siay? .
i) Mumnbal (2] Chenmadi |
3] Esther Chennal or Mumbid
[4) Kelkata
%) Esther Kodkata ar Chennal
129, Who are the three [emakes in the
group ?
(i) W, X and P
[E R Wand X
1% @, Woand X
{4 B Woand @
5] None of thess
130, Which of the fallowing carmecily
ldentifies the pralessions of the
males?
11} Aridsl, Teacher, H-lw;k-nl En=

. gineer
) Arise, Teacher, Eludtnl.
Dancer
i3 Aruist, Decior, Chemist. En-
gineer
4 Cheemist. Teacher, I:hlnn:r
r
{9 Wone of these
. Which af the faliwing & irus as
per the facts provided?
|1} W is & male Chemls and st

im Mruemibad,
(2] Risa male Dancer and siays
in Holhala.
(3] T a male Engineer and atavs
m Halkala, -
(4] X 1= a female Teacher and
. SEAYE In Chenndal,
5] Mene Etmee
132, [ 2 denales - and ‘A dendles
', what will- be the'value af
pBaAETEHADSEAZD T
(a1 - 12145
[31 47 i) 45
 [51 Mone of these
. How mary sweh pairs of letters
are there In the word "OFERA-
TION gach of which has a5 many
“letters between them in Che word
{im bothi forsard and backwand
directions], a8 they hve between
I:'I'r:m:lrllll'reEhﬂI:h .:Jph:hcuu.l

ALTEST

(1) e @ Two
13) Nome M Three -
I5) Mose than Uhree -

134, IFWaAND' t-:-dudu'mm: u.nd
WMODE tuududHJM'r.-iW'

will'HOST be coded fn the'same

MERPW  joikerd.
(MERWP (el BWRP
I5] ERPE \

139, If MENTION iicocled as JONT—-
NEM, and "‘GUIDING
INGOIUG wmmsngbe
coded in the sarme: ‘*-\.
1) SESSALE  (2) SEESCLA
|WSESCSLA  [4) SECESLA
I5 SECLESA

Elﬂﬂfﬂﬂﬂ.l.ﬂ-.'l:.ﬂ. EFQ
and H H’ﬂﬂﬂmm&tﬁﬁﬂrh
bl nat necessarly in the samse order,
Foar of them are facing the centre and

'hﬂdﬁdu K

A

_l.l"'\.

fnsr are facing outside, F s second to
the leit of G, Both the immediate neigh-
boars of F and H face gutside. F and
H tace the cenire G s an tmmediate
neighbour of H: E faces outslde, 4 5
an immediats neighbour of F. B 8 seo-
ond to Jeft of A, C is second to el of
B.

rH:r table. Only two people are siiing

Ak the aamme length and &l the pmpﬁ_
are equidtistant feenn each cther, & lach
&6 gouth. B faces F. Fis not facing,
same direction aselther Aor H, H

es west. [ sits along the sarme le ]
s C, Efaces A Ciaces H's nésghbour;
145. Which directlon is G [sting ? -

136. Inwhich of the fallowing patrs of {1] East 63 Wieat i
people, are the people not sltting (3| Barth 4} Soulh i
immediately next o cach other? (5} Cannot be determined
(11 BD (200G 146 Which direction i F lacing?
(3} DE 4B (1} Eant :
(8 Mane of these (2} Wi %

137. Who amocgst the following is sit- 3} North 14} South
ting third L5 the left of G 7 F (BrCanmal be determined
e MHE 147 Which-directson |s D facing ?
2B . WH e (thBast e (2] West
'Hluﬂﬂ’ﬂ.'iﬁhﬂﬂ' {-\. \-ﬁ‘\m e [4) Seuth

138 Who amongst the [ollowing s sit- = Cannistbe
ting exaclly betwicn Eand D7 !—— B ) A n 6 B facing®
i G ﬂ*ﬁ (U East > (3] Weat 1
BF Hl “TimNeth 4 Sowth
i5) Mone of thess Cannisd be determined -

130 mﬂmmﬂmfﬂ.ﬂﬂ‘»ﬂhﬂﬂ {145-162] : In =ach
ting eecomd m}au :-TE‘F y f ,u,f ‘T#nqmmsmmuﬂummt
:;1: HH-I 4 / erratatemends to be true, Snd oul
& 4 _f,-* xh e wruchh':.:.r;h: follawing twe ceachesions

140, Fouraf the following fve I:E--,h e Cive answer (1) ¥ only conelu-
in a centadn way nn ir o, 1 i brue.
pasition fn the . Ghwe answer (2] & only conclu-
ment) and so 0 a groupsl, _slon 1E bs brus,

Which is the ope thiat S5 ol ;:

ng';t“ ”“.'«:mub'ﬂ- -
1 % L
3] E I '-

lEI-l'l- -'w '--"'

qu.-
lhul

Etu
m:ul mm: wﬁ"ﬁ'th

mﬁweﬁ- ;M and

w:erm Eibdens’ 16 coded as

w3

4L W!'l-l.lulhu._pﬁdtﬁ:u' market" 7
SR E2) gy

E%Lf 14 ps

Hl“’hntﬁnnt‘r-: code "sv* staid

T g"hﬂ
_ market
o Cannet be determined
# " 4] either compuler o market

T

T 1S slther bidoms or market

MHWﬂWthW
be coded?
(1} vy cuxacp
[2} ps bl s cp
(3] qm il ps cu
[ s ps opocu
(5 qm ps oA cu
144, What could be the code for “fab-
ulous marked there™ 7
(1) bl :
{2 vy pi v i
13 = pL hl
vy epxa
4B ep bl g
Directons (145-148) : Sludl_l.
informandion ghven below and answer
given quistions.,
ummwmaaanF

Give answer (3] iF esther canclu-

shoi | or conclaslon 0L 1s Dree. v
¢ Give answer (4] If neither con-

chuston [ mor conchaaioa 0l s tnae.

Oive answer (5] I both conclu-
sdon | and conclusion |l are Lrue.
149, Statements:

BB CrDeEBxC

Copclaslons : [, A< E
HCaE
150, Statements :
PeS=T-QzRaS
Conclaslons: |, F< R
o I RsT
l!-]-&l:ll:ﬂur!.ﬂ
GeHzLJ>lgd
Concluslena: I H<Jd
. I
IG2. Biaterments |
YaW=MNHNzM
s Conolusicone: 1. ¥ > M
1. ¥= M

. ﬁwﬂilﬂi{lﬂ.lﬂﬂ The ques-
Qicns prven below are based on three
glven m babd, The Tollow-
ng conclusions are based om these
mlatements. You have Lo take the
i sigtements o be true even Eithey
1o be gl vartanes from the com-
iy known lacts and then decide
|1|_|;|h uﬂh:ﬁlmmluﬂm logical-
foflows from the given statements
gm'dlqg_wmmu-ulg,rlu'lu‘nnlum
Give answer (1)1 only conclu-
1 fodlowa,
ﬂlﬂm"ﬂ[ﬂﬂ'ml}'mﬂu-
gon [ follown,
Give answer 3] il cither conelu-
gmlu:-rmm Il Follows.
Give answer (4] If neither con-
?mrmrmﬂtﬂmﬂl’m
Hve answer {3 If both conclu-
m1 aned comchuslon [l foliow.
ﬂm.
.ﬂ.lu.l.[umm
Bome crowns are maska.



184, K= 5/P( | = T inticates the:

170 Converslon means_

. Allmasks are CAnvas, (11 Work load method {1} mesting a prosgective clienl
153, Conchmions : (2} Sales potential method (2} inleracting with & prospective
1. Nocapis a mask. 13 Incremental method clenl
IL. All caps beingg cemvas is agos- 14) Sales budges , & ':'l'ﬂﬂﬂl an employer into
- o IELESIEN L o [4] converting a seller to a buyer
154, Conchsions : ) . 166 A& call means_____ = a pma -
1. All caps belng mosks b o pos- (17 sleint ol Lo samebocdy Hml'm'"u“‘-m F"'“‘_ "
by 12} & profession oF busingss 171. USA Chemicals’ president Is very
1. Mo crown belng canvas is & 3 wisdl frbencds exited about the possibility of
pssibdlity. 4] vislting pmpmnemimm the firm's British subssdiany b
185, Conclssions: 15) After-aales servicen uummﬂ:mﬁwﬂ&ﬁr
1. All masks being crowns is A bank expects fall in price of @ reallsns that 6l soanee e
,  poesildity, , m:ﬂum,.uﬂmgnmmgimr- before this area truly becomes
11. All masks belng caps is & pod- kel What 1s the risk thai (he S one market, primarily because of
" Directions (158-160): In sach of the questions given Litlow which coe of . tiraiiasle advertising media
mmpmwﬁgummmnmtannﬂdmmn—memhlmw”n g 42 (3} Law
T b |f:hpﬂqtmwmmntlhl.l.td? ! e T (51 Mone ol thess
[ Problem Figures Answer Flgures _ *-m thee Pacific Bim en-
r’l , w / m—d‘ﬂnml pop-
iy 4 i -1 o "h"l — - -
e b g w i Fatas ot moow
£ 111 m TR T AN~ L 4] TOR%
E: 33 e I FoA ™y [SF Mone of these
a wI o ‘ﬂl.l:ﬂl:n.l.ﬂ.- [ IL.._."'-. __"'. '1“- mmﬂml
-;EIE & Th & TI iI“-l- 5 a T ] __-“"\-xx .:-|'. ._Jmlﬂbtmiimlmlnﬂ
5 @ T NS S e aperach,
g N S 2} direct ewnership
1&.\1?? el 1] e pomiing
-3 _ NN f+4) Neersing
i ‘. - s 5] Mone of these
:- & o - o -"Ir 174 Eq)l:ll*ll-r—'l
196, F [ i e T 10 Ering buyers and seflers fram
E . - i _.-"'ll different countries Logether
onr o= oy T and collect & commissicn los
I R R i[= s rea B < arrangingsales -
m | - A 12 purchase products from dil
B xlg  wie gl #|m 'l"“ 5 T, [erenl companies and sell
) mr ‘E’ﬂ 5 } them 1o fireign countries
M}[EI‘ING +-!ILE"‘.['I'I'LTIZiElI (I Marksis |3 are spectalists ot understand-
'W'H'-l'-hﬂ thie rreedds. of customess in
COMPUTER KNOWLEDGE L o agton ek Pivionfirariiy
161 Relaitvely barge, low-cost. how- Ao f (4} héarkeg ejiatdity risk M) amange for lcensing agrec-
meargin high-vidume, s=3-servive L £ of thes i : s belween dairestic and
operations eto. S, LET acquires i BUR- foreign countries.
{1} Super market e T Wmmwwm- 15} Nome of these
{2] CHscount siore S e T rey thla s peferred To ax 178, Cuisinari Corparation wns (e
Pl i [ £ *-H_hpq.;ertlulmafk:ﬁﬂgmrﬂlﬁﬂ Spakiing name bt does not pro-
Tepasimnt (¥ Feewarnd Integration - dhice & aingle molf Sl or tennks
)} Convenlence sloe e {3 Horizental integration all. This armangement could in-
{5 Mome al {heas ¢ - (4] Badkward integration dicaite whar iype of organdsation-
]ﬂ CHebribalban mibx refers 1o M A {5} Neane of these al sbruscture for imbernatkonal mmesr-
11} Selectivn of & 4 188, Charles Revson of Revion ob sting?
tl:nd'l.lrl'lqh i - served: =In the Factory, we make [ 1} excporting
'nwm "P"E“"?“q”“ commetics: in the store, ____." 123 trading
A k - 15 [ pulnt venture '
I‘H'EEHHDH iﬂhpmllm “._ /S 21 :m:ﬁnumptllm {4) licensing
techinigues. g S . 18 we impl tada 15) Mane af thess
brmﬂpn pqrmn:l:dllnpf . plemen
el S [ we sell hoge 178, Nuhitzu m:rmﬂ_w
' [2) Selagticir ok pre-oakcs during T 18 Mone of these nulogleal sxpertise uce
nﬁ'faruﬁfu RIS el 168, Mohan Sawhney has proposed w dﬂnﬂm
T \ the conospt ol 0 deserils s Arcan ghobe,
(] All-of the-gbove adoater of compiemARLATy prod- . Boston Elsctranics i widely re-
i51 None of these, - " atts and servioes that are closely - garded as having sxcellent man-
e, Marker Reseanch is 'I-ﬂﬂ"fﬁ:"_ related in thie minds ﬁwﬂn‘h lﬂlmt AYEtEMma and IIIPII'P-".I'
i1] declding proper marketing ers but are spread acroes a di- .lmrh!ﬂnl programmes The twa
St yerae petof industries mdght form _ to waork
) deciding the selling price {1) metamarket tagether on & worldwide basta.
13 choosing the right products 120 vertical Integraticn - {1} a Hoensing agreement
4] ehoosing the sales persans 1% hartzontal nksgration 12) an gxport trading company
150 Al of thcse 4) Beanmarket {3 a jaint agreement
i ; ) & strategio allianos
15 Mone af these (5 Mone af thess: 15} None af these



r.r.r Ones @ oompany makes a leag- F (3] processar (9 solbware (3} the file wdll only have o b
lerm ﬁl:mlrmhu!.:i::lﬂn EE'“ (5 coetpuat gawed again if i fswore than
maTiost A% A promising po- . The-arrow keys can be used 1o o e b length
hula:ﬁﬁﬂomﬂ: m i R {i] iLA mAseE st Hthﬂ
what becomes & possibiling? W 1] delete text (5] the file must be saved again
11} Exvporiing ‘ . [Z] move the cursar dn the text Lo Bbpre the changes
1) Jolnt verilune tlsat has already been entered 188, Wr. X¥E wanis te send an elec-
130 Linited exporting . 130 save the document . tranie mesaage to a [rend. He
{4] Direct ownershlp 14] mvove the cumor whdle deleg- ahcadd ‘wee this type aof applica-

178 ||E|| hns :ut diarles in mj ikt of these B :
cowalrics. o b ‘? 151 Mowwe {1] word processing

[88. Numbers in table columns zn:a
T amualhy m—

(1) right-aligned

e/ L) beft-aligned

=03 fusttfied” 4] cenddned

(1) &n eEpOTLCT
[2} & licensing company
(3 & ieading company 5
(4] a multinational company ~H
(5} Mone of these -
178, Body Shop and Benelion are s
armples of companies which
eMployell s—— s a lTIurIi.r:1-
AMLEY ALrAlE Y.
{1 Trandbising
1E) e riing
[:3] Jusirnl sfalasrecs
lni_l]li;l:nmg
5] Mon= of these -
163, Whigh approach bo Inbematios
marketing Lovodves least risk ae
il s o ;
(1] licensbhg (2 epartigg
[ franchising
[4] jodnd venuring i
(8] Mone of These .
“l, _ﬁ]r‘d -"m.l.lp corrladns & IJII.|.|:||
of eeiry program, dafn, and sys:
Lem fle on A compuler .
[1] Testoration £} bogisinap
i3] differential )
[ERETHI
5} Mome of these
162 Every tmwmﬂd'm I:ﬂmpuﬁ
[ T —
(1) appication mﬂrlﬁﬂ
software i
mnfhnn:wtﬁﬂw
(3} hardware or seftware
!ﬂ_llnpulm-ul mmdnﬂ*_
. -
(5} Mome of thue
183, A blinking aymbol on the screen
. l_hi.uhm'-mr-l-l!r:nﬂldur
vl will AppeRr —
1) delete Key [Z) arrow losy .
(cursse (4] retum key \\\
15) Eac kay- e ‘HH .
184, Being ___._means bei |a-1-1 mm Fo
Ww:ﬁﬂf il L—--_ (3} worksheet file . -
you s r o !
yaux ""LE R o )/ 8 documen i

5 -_ 30 retuien key (4] shaft key

E: ! 18] tab loey

-

cealled A

mndl 2] ‘enmply spaie
3] record 4] field !

e

{2 e-mmail " 14 spreadshest

[ data ... (4] ek
B output - -
pa IH-.TTLmeEmdewpm- .
Tepart you had written . o
et e e |
i Neppy 4] harthware
{13 cut and paste (5} poftware .
] g:mmdzw lW.EdlprmwmdﬂbinﬂI[-
B ightigh —
mﬂ;nmﬂ!mr?mmhm {1} it cannat be saved again
Fa. (1) scanming (2} npat . e i
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23, (2)
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29. (5}

30. {3)

3L (2

aa. {4}

34. (2)
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37. (1)
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39, (1}
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43. (2]
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= EXPLANATIONS =

1. (3) Standard & Poor's
2. (2) Base Lending Rate Systemn
3. (4) AlL{A).iB} and [C)

4. |2) Statutory Liquidity Ratio

5. (2) Only (B) :

6. {4) All(A), (B) and (C)

7. (1) Monetary policy of the Cen-:

tral Bank of the country
B. (2] Motor cycles
9. (2] Only (B}
10. (4) All (A}, (B) and [C)
1L (2) Only (B)
12. (2] Rupee is appreciating against
" other currencies whereaj other

currencies are weakening against
US Dollar.

13. (5) None of these (State Bank of
India)
14, (3} Geo-thermal energy
15. (4) To get elementary education
16. (4) Only (A) and (B)
17. {1) Omly (A)
18. (4) Sodiumn Sulphate
18. (4) All{A), (B} and (C)
20. (3) Eastern and North Eastern
States
21. (1) Mid-Day Meal Scheme
22. (2) Antodaya Anna Yojana
23, (2) Government of India
24. (3} VHNDs
25. (3) ASHA
28. (3) Love
27. (1) Prerna
28. (3) 22nd March
29. (5) Jawaharlal Nehru Award for
International Understanding
30. (3) Bharati.. o -
31. (2] Badminton player
32. (2) Briyan Viz £
41.(2) The time when Germany oc-
cupied France
42.(4) Only B
43.(2) Only Aand B
44.(3} The Marc Rodin
45. {ll The person who has all essen-
tial academic qualifications and
experience required to become

46.(3) Thepe::rplea.mundhimwem
. of the same natuire as he was

47.(3) He joined a colonial regiment

48.(2) The Government lacked polit-

fcal witl to support army oper-
ation

49.(5) The word ‘chevrons has been
used in the sense of getting a
position. Hence, its synony-
mous word is ranks.

50.(4) The word ‘conscript’ means
forcing somebody by law to
serve in the armed forces.
Hence, its synonymous word
is compuisive,

51.{1] The word “frigidity’ (Noun]
means no feelings of [riend-
ship or affection. Hence, its
antonymous word is warmth
which means a [rendly atti-
tude towards other people.

" 52.(2) The word ‘dénunciations’

(Noun) means criticizing
strongly a person or policy.
Hence, its‘antonymous word
is greeting.

55.(3) A plural subject agrees with a
plural verb.

For example,
Ram and Moh'a'n:p]ay together.
L
Plural subject

56 {2} The Phrase lock down' means
‘consider somedody /
inferior to oneself, regard

somebody/something with con-
tempt. For example,” .
She looks down on people who
have never been to university.
Hence, the correct usage wil,
be 'looking after’.

88.(4) The word ‘sparingly’ should be
replaced with rarely.

59.-:1] The word ‘Countrary’ is wrongly

spelt. The correct spelling is

‘contrary’.
60.2) The word enterprize is
wrongly spelt. The correct
. . spelling is ‘enterprise’.
62.(3} The word 'panerama’ is

wrongly spelt. The correct |
spelling is ‘panorama’. which .

means a view of a wide area,
a view of a constantly chang-
ing scene or series of events.

68.(4] “While | changed the wheel will’
be replaced with ‘while 1 |

change the wheel' as all other

clauses are in Pregent Tense.

ﬂﬂ.tl]"‘mwhohas been’ will be

with ‘Ganesh who had

been’, as the Past Perfect Con-

tinuous is used for an action

that began before a certain

point In the past and contin-

ved upto that time. For ex-
ample,

17
- 8242) P = X

Al Nal pIe e wdal ”":-"QE
working n afactory. 2
70.(3} "Than it began’ milbtn':plmm
with “when/belore il begagy
because the Conjuctions usef
in pairs are called the cornlyZ|
Lives. s
For example, i
Either..... or. Neither .., nnm
Not only ... bul also, Stdne.rf,
oo when, eu. Thus., cormed,
correlative is scarcely 4
when, and not scarcely =
than. i
7L.[(4] ‘Have used it recently’ will e’
replaced withhad used i 12
cently’, as il the Reporting Verdj)
{enquired) is in Past Tense, (&
Reporied Speech will also [
in Past Tense. 3
T2.[1) "Prof. Kulkarmni, who is on :ﬁ
will be replaced with “Prif
Kulkarni, who has been (hé
as the Present Perfect Cony
tinuous is used for an acuun
going on at the time of speak*g
ing and began in the past. r‘or
example,
He has been teaching [or I'uus
years.
78.(5) arrogance
74.2) upon
75.12) devalued
76.(1) supremacy
T7.03) countless
TB.[3) treated

- 78.(3) pretext

80.(5) name
3 4 7
Ts=x=x=xT38 = |2
B1.(1} 8 ® 7 * 3 * 123

4 5 2
—_— W —
BT 3 15

i
| &
w | ra

+

_98+10 46 1

45 45 45

135x 480  7x 320
100 100

=135x450+'°x320

-TE&KIEH} n

= 7 x 320 = T2800 - 64800

= ? x 320 = 8000

831l =728

5?u—:25

320



36_9%
: = 80 % ? = 36 x 195

35x195 -78

= r e

| 85.2) 323.001 x 15 + ? = 5000.015
=4845.015 + 9 = S000.015
= ? = 5000.015 - 4845.015
= 155

86.(2) ? = 25.741 + 190,371

! = 216.112 '

! 2 2 1
! ray — 14—+ 15—
| 8749) 7 = 1297+ 143+ 157

.[12+14+151
2 2
12+44+11 4., O

Bt

e

T

=41 +

L
= -+BE

1
-4] + 1——42%
aa.tr,l*? 88.75 - 79141
23023

_J

_'ﬂ'ﬂ}"-
* = 1001 - 7 = 994

18 26 39 5]
;‘"m?'ﬁ T °n
iﬁllﬂimghrcnserlesisbamdonﬂm
3 following pattern :

L 2x24+2=6

Ex3+3-_21

: 21x4+4=[88]

¥ 88 x5+5=445

Hence, 88 will replace the gues-
tion mark.

92.{41Th¢ghren serjesis based on the

: following pattern.:

11 %2 + 14 = 36

_36!24- lE:Eﬁ_‘”‘r}

L. B4x2+10=178
178 x 2 + 8 = 354
Hence, 84 will replace the ques-
tion mark.
N«H}Thrgtvmamﬁxshasedmme
i following patterr :
144 504 EF
I M
*d 3.0 =3 :
Hence 1512 will replace the
question mark.

=7

'94.[4) The given series is baséd on the
- - following pattern: _
. 5 g w0 B7 412

w1+l w2 k3 mded’

Hence. 87 will replace the (ues-
; tion mark. .
ﬂﬁtﬁj'rhegwmseries:shasedonthc

following patterfis,
23x 1.5+ 1%].5=36

36 x 2.5+ 2 x2.5=95

95 % 3.5 43 x3.5= 343
443 x 4.5 + 4 x 4.5 = 1561.5
Hence, 1561.5 will replace the
question mark, -

96.(4) :
I r | -
Let Aand B be initial positions

of cars A and B respectively. ] '

AB = 50 km .
Let Point C be the destination
where BC = xkm.
Car A covers a distance of (50

3
= hrs.

+.n$nl'r.rnln2

Car B covers a distance of x
kmin 1 hour, =

If the upeeds of cars A and B
be yand z kmph respectively,
then

o]

Xx=Z 1]
Here, we have &munkmr ATIS
and only two equations. He nee,
y canmnot be determined.

g7.(1) Out of 12 mangoes 4 can be
chosen in '2C, ways..
So, exhaustwc number of
cases = 120,
_12x11x10x9 _ 0 o

1x2x3x4

Mo roiten mangoes me ans all
unnitten mangoes. Th e num-
ber of ways ol selecting ; all four
unrotten mangoes ou .t of 8 is

-
50 + x 2 y

B,
-, Favourable numbe r of cases
BxTxBxij
=B =—=-=70
4 Iw2x3nil

So, required probab dlity
_ Favourable numb» :r of cases
"~ Exhaustive numb er of cases

70 14

408 499

© 98.(1) 1 _et the presend ages ol Sunila
" and Reena be Sxand Tavenrs
rcsperiwel.y

?Jr+4 4
or, 2lx + 12 = 20x + 16
Soarmd .
<. Reena's present age = 7x
= 7 x4 =128 years..
9!:'!.15] L et the length and hrcadth ol

the gardeh be 7x and 4x
metres respectively.

S Tx x4 =700
= — =25
ﬂ 28

gt LR 25 =5 _

’ ~-Length of garden = 35 m
and breadth = 20 m -

Area of the boundary

3542 x—|x [202 J?m]z
[+K2} FKE 1m

= (36 % 21 - TO0Im? = 56m?
Rate = Rs. 148 m?
~. Total cost = Rs. {148 x 56)
= Rs. 8288

- Milk = 85 litres,
Water = 5 litres
Let x litres of milk be added.

=100 =2

100+ x

or, 250 = x + 100

or, x = 250 - 100 = 150 litres
10L.(2) Export in 2004

= Rs, 600 crore

Export in 2005

= Rs. 450 crore

" . Reguired perceniage

-ﬂxlm
450

= 133.33= 135
102.(1} Required difference
= Ra, (600 - 450) croves
= Fs. 150 crores
103.(3) Total export = Rs. (300 + 200
+ GO0 4+ 450 + 600 + BOO =+
950] crores
= Rs. 3900 crores
10404} Minimum export (in 2003)
= Rs. 200 crores
Maximum export {in 2008}

= Fs. 950 crores

—— e —"



121. (3) Except Fearful, all others rep-

resent Lhe staté of sorrow, sadness.

|5) Wisdom is a trail while all alth-

ers signily the idea or argument

on which something is based.

(3) Except in letter group HRA-

CT. in all others theie are two

Vowels.

[3) Ring is worn in the finger. Sim-

iflarly. a pair of shoes is meant

for fool.

(3) Computer is a type of machmc

and cup is an utensil.

126. (5] Waste is thrown into dustbin.
Similarly, book is kept on rack.

[127-131):

Sex City
Male | Holkata
Female| Chennai
Male | Holkata
Male | Kolkata
Male |Mumbal
Female} Mumbai
T Female] Chennal

122

123.

124.

125.

hu[euk.\n.l
Artist,
Dancer
“Teacher
Student
Engineer |,
. Chemist |
Doctor

128. (2) Q stays in Chennal

129. (3) The three females are : Q. w
e and X

130. (1) Professions of Males : Artist,
& Teacher, Student and Engineer.
131. {5) W is a femnale Chemist.

Ris a Teacher. ’

T stays in Murnbai.

X is a female Dancer.

2.(1) 94 A27© 44 ©56 A 20"
=04 +27-44-56+20

= 141 - 100 = 41

; ll o1
516 5 18 1 20 9 15 14
g 1 O N

L]

—"_3'_ -

~ Similarly,
H OS5 T—2»E R P
{ -3 4
+3
-a
+3
135. (1)

S BE 8 8 AL C

(136 - 140} :

136. [3]‘111&1'& is C between D and E, |
137. l’a‘i B is sitling third to the Ieft crf
4,

TS‘B. {2] C is sitting exactly hetween E
‘and D.
139. (1) G is sitting second to the left
of E.
140, (4} Except D, all athers face out-
©r side.

(141 - 144) :

eompiter 15 oo ] £ a3 —> %] m@

out

- ®mE

R i i ST, > o0 G

141. (3 market=+hl

142, (1) sv =3 blooms ~

143. (4) fashion = ps; is = cu:
in = cp; blooms = sv

144, (1) fabulous = vy
market = hl;

The code for ‘there’ would be 'pl",

(145-148) :

A B o

(W G N

D W oe ‘ *E

. Y
E F = '

145, (2] G faces West.

—

/A s

148. (3) F faces North.
147. (1) D faces East.
148. (4) B faces South.
149. 4)A=B>C>D=E
Conclusions
. A< E: Not True
JI. C 2 E : Not True
159. [2;?;.02R=’S_>T
Conclusions
1. P< R : Not True
I, R>T: True

151, (1) G=H<lzJ=>HK
Conclusions

. H<dJd : Trae
II, G » K: Not Trus

J1B2. B Yz2W=Nz2M

Conclusions
LY = M: Mot True
.Y = M: Not True



n
(i
[iii)

(v

153,

154.

155,

#All caps are crowns — Univer-
sal Affirmative {A-type).

Some crowns are masks — Par-
ticular Affirmative (I-yypel.

No cap is a mask — Universal
Negative [E-tvpe).

Sovne caps are not masks — Par-
uecular Negative {O-type).

Some crowns are masks.

All masks are canvas.
I+ A = |-type of Conclusion

“Some CrowTns are canvas,™
(2} From Affirmative Premises,

‘negative Conclusion does not fol-

low. Therefore, Conclusion [ does
not follow, _

All crowns being mask Is a pos-
sibility.,

Therefore, all caps being canvas
is a possibility.

(1} All crowns being mask is a
possibility. All caps are crowns.
Therefore. all caps being mask
iz a possibility. _
Some crowns are canvas. There-
fore. Conclusion 11 dees not fol-
lovwr.

55. (5) Some crowns are masks.

Crowns,
Masks

- 158,

Therefore, all masks bl.'

crowns is a possibility. Cun

slon I may also hold true,

[4) From Problem Figure (1) to {2)
all the designs move one-haif
step in the clockwise direction
and one more design appears
ahead of the pre-existing de-
signs. Similar changes oceur
from Problem Figure (3) to (4)

_ and from Problem Figure (5) to

157.

)to(2)

Answer Figure.

{2) The following changes occur
in the subsequent figures

(2) to (3)

(8) to (B)

S B

»—>9-—>w

——
—
i
38—
L ]

. . .ie—> o
{3) to (4) i) to {5}
. ] e <«

SE—0E—w|lw

S E—a e
a0 —3

*—e——0 8 —

158. [4) From Problem Figure (2 to (4)

and from Problem Figure (4] to
Answer Figure the number of
designs (T] is increasing by one,

159. (4) The following changes in the

subsequent figures :
(1)to(2) (21 to (3
{5) to (6)

./-

162, I'I] belec'liun 0!' dl.l'ffrt'nl distrilyy;

tion channels like Distriby.
tion - Wholesaler - Reiaﬂen
Consumer eic. |

163.(1) deciding proper marketing |

strategies
164.(2} Sales potential method

165.{4) visiting prospective custom.

£rs

- 166.(4) Market Uouidity risk

167.(4) Backward integration
168.(4] we sell hope

169.,{1) metamarkst

170.[5) converting a prospective

client inte a buyer ¥

171. {2} Because of differences 13;

T culture. The task of culty
adjustment is the most chalg
lenging and imporiant on
confronting the internationa
marketers they have to adjus
their marketing efforts to cuk:

* tures to which they are nofl

atiuned. Gross-cullural nﬂsa.m‘iﬁ
derstandings can resull from
a simple hand gesture - iU hag
different meanings in different.

Cmarts of the world.

172. lﬂjﬂountrles in Pacific Rim

-
N

\

7

[ B e

(3} to {4)

(4} to (5)

:\7
i

f_(/

.—}.

160. {2) The following changes occur
in the subsequent figures :

1) to {2)
(3} to (4)
(5) to (6)

e

(2} to (3)
(4) to (5)

|

we|/ON .

A

encompasses 60% ol Lhe,
world's population. 1

173.03) One of the casiesi way to

enter in a foreign markel is ex-
porting. The domestic com-.
pany can sell its products Lo
foreign buyers directly or
indirectly. The exporting firm
has the choice of wsing the
varicus combinations of
channels network {or Lhe

., same product in different

markets or for different prod-
ucts in same markels or for
different products in different
markets.

174.(1) Export agents whose primarily

respongibility is Lo locate
foreign consumers for Lhe.
firm's product for a commis-
sion and render certain
services without taking title 1o
the product,

175.14) Licensing arrangements rep-

resent signing of an
agreement wilh a foreign-
based enterprise, which is
granted under the terms ol



agreement of right to use the -
patents, processing know-how;
or trademarks of the licenser
company usually in exchange
for fee or royalty.
17&[4} a strategic alliance g
177 (4] Diredt ownership, when the
company moves along its life
cycle it develops an interna-
tional orientation. It motivates
to invest in foreign market
and develop its own manufac-
turing and marketing systems
within that market.
78.(4) ICI is a multi national :mnpan}r
which means the expansion of
business on an international
scale,
79. {1) Body shop-and Beneltun are
example of companies which
have franchising as a market
entry strategy. Franchise
means opening of subsidiary
branches in many countries.
80 [2] Exporting is the most com-
© monly used method for enter-
ing foreign markets. This
method involves production of
goods and services in home
‘country followed by distribu-
tion Into foreign market. This
v method is most simple as it
“*  jnvolves minimum financial
o risks.

(4) In a full or complete back-
%y iup, every file of data is copied
§,,* from one computer to another
- form  of media, includihg the
‘operating system, all applica-
“ tlons and software, all user cre-
- ated files, and all your settings.
] '13) The components of a comput-

- er can be classified into two
i broad categories-Hardware

g lph}rsjcal parts of a.computer
% - that can be seen or touched) and

e R T
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H.

“ indicator on a computer screen’
identifying the point that will be
o affected by input from the user.
"!Q"- (1) A computer-literate refers to
- person who has enough skdill
‘¢ and knowledge to be able to use
‘& computer. That is, he is able

- to use computer on a basic ley-
2 el

! 185, (5)*To remove a paragraph from
L a word document, simply high-
light the paragraph (using a
mouse or keyboard) you'want 1o

key,

186, {5) Computer monitor is an out-
‘put device that displays the re-
sult of processing (Output) to the

- user._

187, {2) The cursor can be mwed in

a document's work area; without
erasing or entering text, by us-
ing the cursor conirol keys. Be-
cause these Reys are marked
with arrows fup, down, lefLand
right). they are also called arrow
keys. These keys can only be
used to mové'the cursor where
the text 'has already beeh en?
tered. To move the curser down
one ling, press the key marked
with a dewn arrow. To move the
- cursor up, left or right press the

188. (1} Text s usually left aligned
whereas numbers in table col-
umns is usually right aligned.
This helps with caleulations, be-
cause then all the numbers are
lined up and it is easler to see
the value.

(5) You can indent the first line
in the first paragraph of an es-
say, report, bock chapter or any
other type of writing using a tab
key. This sets the paragraph
apart visually, and signals that it
is the first of a series of para-
graphs. If you want to indent
the entire paragraph, use the in-

189,

190. {1) In any spreadshest program
such as Excel, each rectangular
box in a row worksheet is refl-

_ered to as a cell. A céll s the in-
tersection point of a column and
a Tow.

191. (5) A computer icon refers to a
small picture on a computer
screen that represents a specif-
ic file, directory, window, option
or-program. Clicking on an icon
will start the associated program,
or open the associated file, di-
rectory or window,

192. (5) When you save a document
{or file} for the first time, you will
need to mention & name for that

" decument, To do that go to files

remove and then press DELETE

key marked with the appropriate.

crease indent tool on the tool bar. |

Save As. A file name is used o
unequally identify a computer [ile
-stored in-a file system. -

193, (1) Numéric data refers to any
data that can be quantified eg.
age, cost, test score, bank ac-
count no. ete, whereas non-nu-
meric data refers to any data
that can't be quantified eg. name,
address, etc. It makes use of the
“letters of the alphiabels only.

184. (1) ]:.:IOC{_[S the document file for-
mat used by Microscli Word.
also used with most word pro-
cessing software including open
office. ;.-

195. (3} Data. refers to information in
aw or unorganised form (such

-= as alphabets, numbers or sym:
bols) that represents conditions,
ideas or objects.

196. (5] Compuler sofllware {or pro-
grame) refers to a sel ol ma-
chine-readable instructions that
directs a compulers processor
to perform specific operations.

197. (5) Use the save command Lo
save changes to the current file
{the file remains in the current
format) or the Save As command
to save changes with a dilferent
name, location or format.

198.(2) An e-mail is a system of
world-wide electronic communi-
cation in which a computer user
CAnN CoOmpose da message al one
terminal that can be regeneral-
ed at the recipient's terminal
when the recipient logs in. 1L is
a method of exchanging digital
messages from on author to one
or more recipients.

199, (1) To print a document, r:Ilv:k

“Print” from the file menu. This
will bring up the printing menu.
Change the necessary delails.
Cnce your settings are to your
satisfaction, just click "OK"™.

200. {4) A menu [or file menu) is a list
of commands or choices offered
to the user. It allows & user to
access various oplions the soli-
ware program is capable of per-
forming. Clicking an oplion in
the menu executes the indicat-
ed function or generates anoth-
€ MEntL. :
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